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1. Attempt all questions.
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Define signal. Give classification of signals and explain continuous and
discrete signals.
What is digital signal processing? Give application of it in biomedical field.

What is sampling? Describe sampling theorem.

Give Comparison between FIR filter and 1IR filter.
OR

Define ECG. Describe various electrodes used in ECG.

What is quantization? Describe need of quantization.
Define correlation. Give classification of it and explain each in brief.
OR

Write down the trigonometric form of Fourier series representation
of a periodic signal. Obtain Fourier transform for exponential form.
Compute the cross correlation between following two signals:
X(n) ={1,1,0,1} and Y(n) = {4,-3,-2,1}
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What is wavelet? Explain continuous wavelet transform.
Describe data reduction techniques.

OR
Give classification of systems. Describe any two systems in detail.
Describe scaling properties of Fourier series.

Give applications of wavelet transform.
Write a short note on EMG.
OR
Describe the Unit Step function and Unit Ramp Function in Detail.

What is windowing technique? Give classification of it and explain any one.
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